JCE-1408U KOSHIN

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA

B4 JCE-1408U-AAA-1 (059856203) % MBS AR —EH 7 U OBEE NSERTT
No. | #mIa—R B & & EFAEZ HoK - M " B (@ fi& =z
1| 059813703 | JCE-1408U R 7&Kk = 1 36,000
80 | 059178101 | JCE H%AIES|HR—R 1| 1.4M A =F-fF 550
81| 059179701 | NAZ S PRIV 4 | M8 X 20 100 N
82| 059176102 | K180 T <> 1 -
83| 059180201 | JCE-1408DX BA#R I A 4 1,900
84| 059180301 | NATZSIMFY b+ 4 100 N
85| 059180401 | EEZL (/) 4 100 N
86 | 059180501 | EE£ (X) 4 100 N
87 | 059813403 | JCE-1408 7L —A¥ = 1 23,100
88| 059176603 | JCE-1408 7L —A 1 21,000
89| 059811801 | JCE-1408 vy a>»aALL = 4 350
90 | 059178802 | JCE-1408 XA T+ v v 2 100
91| 059189502 | JCE-1408U-AAA-1 §44R 1 100 N
92 | 059160802 | JCE-1408/14808DX A A JLESN)L 1 100 N
93| 059161101 | JCE @ FES NI 1 100 N
94 | 059160401 | JCE-1408 OIS ~NJL 1 200
95| 059814101 | JCE KEEHAR—RIZ (F) 1 4,000
96 0109268 JCERAR—RIZ (¥ 1 7,400 | PA-272(4971770-107687)
97 | 059178701 | JCE /X oYU —F—FE> 1| SUS 100 N
98| 0109257 JCE /XN VR 1 6,500 | PA-268(4971770-107571)
99 0109255 JCE ArxPH 1 9,500 | PA-266(4971770-107557)
100 | 059177401 | JCE-1408 it H7k— X 1] 10m 13,350
101 | 059184801 | JCEO U4 3]9x%x25 100 N
102 | 059185001 | JCEO Y &' 2| 102 X 24 100 N
103 | 059185101 | JCE BRAKR—R/NNwF> 224X 18X2 100 N
104 | 059195601 | JCE /k—R/\> R 1 100 N
105 0109269 JCER ML —F— 1 3,500 | PA-273(4971770-107694)
106 | 059178001 | JCE-1510K Sk — R 1] 3M 1,100
107 | 059188001 | JCEFA/AYF v bk 4| M8 100 N
059189802 | JCE-1408U/UDX ExiksiBAE 1 300 N

ORMRALEBROBERToTEYEtA. DBEERIFER<EESSILHPHYET. DRFMEBCHERBZEENTEYEtA. OXRBBFIEREIHIHVET.



JCE-1408U

KOSHIN

BI{% JCE-1408U-AAA-1 (059856203)

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA
* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | &B@I—F B & A EREE % # B B (] Z
100031904 | K180K210 > ¥ EREH 1 100 N
011688103 | h'YY7 - MIEEIN W 1| 1K #80 9y/iK 100 N
059189201 | JCE-1408U #4— 2R 1 3,050

OBMRALEBROBERToTEY Ko, DBAERIFEL<EETSIEDPHYET. DRFMIBICHERBEENTEYEtA. OXBIFIEHEIPHVET.




KOSHIN

JCE-1408U R 7

BI4% JCE-1408U-AAA-1 (059856203) 7R > 7'EB

* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R B & & EFAEZ wROg # B B (@ fi& =z
2| 059195101 | JCE-1408U 7<f7ift &K b (M8 X 25) 4 | M8 X 25 100 N
3| 059169301 | JCE-1408 75> 2754 v b 1 3,450
4| 059169402 | JCE-1408 O >4 1| 80X 24 200 N
5| 059169501 | JCE-1408 A )L — )L 1 1,000 N
6| 059169601 | JCE-1408 X7 U &' A 1 2,850
7| 059810801 | JCE-1408 hAY v 7 h& = 1 3,750
8 | 059169701 | JCE-1408 AU —7' 1 650 N
9| 059169801 | JCE-1408 51 A 1 3,100
10 | 059169901 | JCE-1408 X7 U 4'B 1 1,650
11| 059813801 | JCE-1408U 'S > L+ —4 = 3 2,400
12 | 059170001 | JCE-1408 R7°U &L — bk 3 200 N
13 | 059193401 | JCE-1408U-UDX 75> ¥+ — 3 2,200 N
14 | 059170201 | JCE-1408 7S v —RTYU Y 3 350
15 | 059193501 | JCE-1408U-UDX 437451 1 5,500
16 | 059811001 | JCE-1408 #{IMb Vy7 34 43 1 550 N
17 | 059174801 | JCE-1408 A I RL > FS54 1 450 N
18 | 059170401 | JCE-1408 O >4 14.2%1.9 1] 142X 19 100 N
19 | 059170601 | JCE-1408 A LS —)b 3 950 N
20 | 059170701 | JCE-1408 OU >4 3| 15x 22 100 N
21| 059193601 | JCE-1408U-UDX E'R k> Hi4 K 3 550 N
22| 059170901 | JCE-1408 OVU >4 3| 22%2 100 N
23| 059171001 | JCE-1408 ER kU & 3 400 N
24| 059171101 | JCE-1408 R k> —)b 3 850 N
25| 059171201 | JCE-1408 RA/NINT TS5 3 550 N
26 | 059171301 | JCE-1408 /N &7 v U A 3 100 N
27 | 059171401 | JCE-1408 OU » &' 3]/98x%x18 100 N
28 | 059810501 | JCE-1408 /)L & = 6 550 N
29 | 059171501 | JCE-1408 OU >4 6 | 925 X 1.78 100 N
30 | 059812901 | JCE-1408 &I\ AZy7 W3 1 1,600
31| 059167501 | JCE-1408 #%HIRA=v I 1 550 N

OEMBEAZEBRORTERToTEY £t A,

OEfRIFER<EETHEDBHYET,

OXRREEICHERIEENTE Y £t A.

OXHERIBHEB PPV ET,




KOSHIN

JCE-1408U K 7

B4 JCE-1408U-AAA-1(059856203) 7R > 7'EB

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA
* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R B & & EFAEZ wROg # B B (@ fi& =z

32| 059167601 | JCE-1408 OU >4 1| 447 X 1.78 100 N
33| 059167701 | JCE-1408 H%&H|K{AF 1 100 N
34| 059167801 | JCE-1408 H%HIRART U >4 1 100 N
35| 059172001 | JCE-1408 it HA (A 1 750

36| 059171601 | JCE-1408 OU >4 1| 53X 265 100 N
37| 059171701 | JCE-1408 it H# 1 350 N
38| 059171801 | JCE-1408 HHH R T >4 1 100 N
39| 059171901 | JCE-1408 OU >4 3] 142X 19 100 N
40 | 059184201 | JCE-1408 MHiax4& 4 —B 1 1,100

41| 059172101 | JCE-1408 Ny o7 w7 U 4&'B 1 100 N
42| 059172201 | JCE-1408 O >4 2 | 607 X 1.78 100 N
43| 059172301 | JCE-1408 /NJLT' i 1 1,100 N
44 | 059193701 | JCE-1408U-UDX 7°5 4" 4 450 N
45| 059173201 | JCE-1408 OU >4 41 14%x19 100 N
46 | 059193801 | JCE-1408U-UDX 7R > 77k 1 14,000

47 | 059820301 | JCE-1408U &7k - 27k = 1 4,400

48 | 059193901 | JCE-1408U-UDX HRIKZAS{RN v 1 150 N
49 | 059204801 | JCE-1408U-UDX W7k A fdk 1 1,600

50 | 059173001 | JCE-1408 BRA T 4 L& — 1 200 N
51| 059174901 | JCE-1408 RAIRL & — 1 900

52| 059194601 | JCE-1408U-UDX kAR L& — 1| M14 X% 1 800

53| 059193001 | JCE-1510UK O U >4 11.4%1.78 1] 11.4x%x 178 100 N
54 | 059204901 | JCE-1408 7xfay\ftE AL+ 4 | M8 X 55 100 N
55| 059173301 | JCE-1408 s@E./ 7 1 650

56 | 059194901 | JCE-1408U-UDX NENfHEIEHRT MAk4 1 | MA X 4 100 N
57 | 059195001 | JCE-1408U-UDX SE R b w /¥ 1 400 N
58 | 059194101 | JCE-1408U-UDX sAEZ"S5 4 1 650

59 | 059173501 | JCE-1408 OU >4 15%25 1] 15x25 100 N
60 | 059173601 | JCE-1408 /Ny &7 v 7Y &' C 1 100 N
61| 059173701 | JCE-1408 OY &' 1]52x%x19 100 N

OEMEZAREBRORTITo>TEY EH A,

ORMRPERKERETHLBHYEY. ORTMBICHERISENTEY Etth. OEHEREHENIHVET,




JCE-1408U R 7

KOSHIN

BI4% JCE-1408U-AAA-1 (059856203) 7R > 7'EB

* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R B & & EFAEZ wRow - M H B (@ fi& =z

62 | 059173801 | JCE-1408 R7°U v FiRX z 1 650 N
63 | 059173901 | JCE-1408 {HERT UV HA 1 550 N
64 | 059174001 | JCE-1408 HERTYU 4B 1 100 N
65| 059174101 | JCE-1408 FEIKIFE X 1 350 N
66 | 059174201 | JCE-1408 £k 1 250 N
67 | 059174301 | JCE-1408 SFEF & 1 350 N
68 | 059174401 | JCE-1408 O >4 1| 925X 1.78 100 N
69 | 059814801 | JCE-1408U L7 #k&ET74 74— = 1 1,900

70 | 059194201 | JCE-1408U-UDX )L k M8 1| M8 500 N
71| 059192802 | JCE-1510UK R >4 1| 06X56X18X75 100 N
72| 059165001 | JCE-1510K O UJ >4 4.2%2.4 1] 42X 24 100 N
73| 059194401 | JCE-1408U-UDX [EA/NILT 1 600 N
74 | 059194501 | JCE-1408U-UDX EH++ v 1 550 N
75| 059194801 | JCE-1408U-UDX A A IbF*+ v 1 150 N
76 | 059196501 | JCE-1408U O >4 1| 13.2X24 100 N
77 | 059196601 | JCE-1408U O >4 1| 10.82X1.78 100 N
78 | 059818001 | JCE-1408UR> 74 = 1 21,250

79 | 059818201 | JCE-1408U > U —XHh AT —RH =2 1 17,150

OEMBEAZEBRORTERToTEY £t A,

DBMEPEREETHEPHYEYT. DRTMEBICHERBEEINTEY LA, OXRBEREHEIHIHVET.




